S.y.8-c0/.

2018
Con. 25-18. ‘Founq’ql:@n Colage ~TI° KG—6'
(3 Hours) [Total Marks : 100

N.B. : (1) Question No. 6, From Section I and Question No. 12 from Section II are
- compulsory.
2) Attempt any five questions from Queston No. 1 to § from Section — 1, and
- Attempt any three questmns from Question No. 7 to 11 from Section - II
(3) Figures to the right indicate full marks. ,
(4) Both Sections should be written in the same answerbook.

. Se_ction I
1. Explain the Violation of the 'Right of Children'. | 12
" 2. Discuss the General Effects of National Disaster. ' o 12
3. Explain the Inter~realt1onsh1p and differences between Scwnce & Technology. 12
4. Write a detailed note on "Non- verbal Communication”. : 12
5. Explain the advantages and obstacles to free and Compulsory Educatlon to all. 12
6. Write short notes on (any two) :— _ 14
(a) Water pollu‘qon_ : S S
(b) Right to equality
(¢) Role of Technology
(d) Styles of Leadership
(e) Right to health '
_ Section I _
7. What is "Right to Information" ? Explain the features of RTL o 12
8. Explain 111 detail the approach "Deepecology". - 12
9. Discuss the use of technology in modern living. ' _ 12'
10. Write a note on "Competitive exams conducted for entry into job". 12
11. Define the term Urbanisation. Explain the major problem of Urbanisation. 12
12. Write short notes on (any two) :(— . ' , 14

(a) Need of Public Interest Litigation
(b) Principle of fair Carbon Share
(¢) GSP (Global Positioning System)
(d) Misuse of technology

(e) Mcgregors Theory X & Thcory Y.

et 1 e e ok i e o
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Con. 31-18.

N.B. : (1) All questions are compulsory.
(2) Figures to the right.indicate full marks.

(3) Answer of both sections should be written in the same answer book.
Section I

1. Explain the following Terms (any five) :— : ‘ S 10

(2) Retail advertising :
(b) Market segmentation
(c) Waste in advertising
(d) Client turn over

. (e} Media Mix

.. (f) Buying motive

- () ABC
(h) Clutter
(1) Transit advertising
G) TRP |

2. Explain the following Terms (any three) — ' S e 30
(a) What is advertising. Explain its signfﬁcance. o
(b) What are the merits and demerits of Internet advertising.
(¢) Discuss the stages in the process of product life cy'éle.
(d) . Discuss the causes of waste in advertising. -
(e) Explain the career options available in the advert1s1ng field..
(f) Explain the effects of advertising on (i) Consumer Price (i1) Pl‘OdllCthﬂ cost

3. Write short notes (any two). — o _ 10
(a) Ethics in advertising..
(b) Role of advertising in brand building.
(c) Need for Media research.

(d) Integrated Marketing Communication.
_ [ TURN OVER
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"Seetion I1

4. Explain the following Terms (any five) :— ' 10

(3
(b)
(©
(d)
(e)
49)
(8)
(h)
(i)
6)

Brand Name
Advertising Campaign
AIDA formula

Slogan |
Headline

Website

Digital media
Dubbing

Animation
Visualisation.

5. Explain the following Terms (any three) :— | = 30'

(2)

What is advertising appeal ? What are the essentials of a good advertising

appeal.

(b) What factors are considered while preparing an advertising budget ? |
(c) Explain the different types of consumers. -

(d) State the functions of illustration in advertising.

(e) Discuss pretesting methods of testing advertising effectivencss,

(f) Discuss different types of Buying motives.

6. Write short notes (any two) :(— S | L _ 10
(a) Fantacy in advertising o |

(b) Essentials of layout

(c) Mobile advertising

(d) Window display.
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© AsmiExam.-1stHalt-2018-34 D : v . ' ' —

(3 Hours) | [Total Marks : 100

N.B. : (1) Attempt any five questions
~ (2)- Allquestions carry equal marks.

1. (a) Whoisa'Company Secretary' ? What are his qualifications ? , i | 0_'
(b) Define a Joint Stock Company. What are its characteristics ? - 10
2. (2) Describe in briefthe steges in the formation of a company. S ' 10
(b) Distinguish between Transfer and Transmission of Share. L 10

3. (a) Explain the importance of Memorandum of Association at the prime of Incorporation of 10

a Public Company. , o

(b) Describe the procedure of undertakmg of shares - 10

4. (2) Whatis borrowed capital 7 Explain the borrowing powers. _ : | 10
(b) Distinguish between Director and Managing Director. . | 10

5 (a) Whatis "Allotment of share” ? Explain the procedure for allotment of shares. 10

'(b) What is share certificate ? Explain its contents. 10
6. (8) What are the powers and duties of a Director 7 -~ - 10

- (b) Explain the different types of voting. R - o 10
7. (3) Explainthe procedure of makingacall. | L 10 |
(b) What is Quorum ? What are the legal provisions regarding Quorum? =~ - - 10 -

8. (8) What are the duties and powers of the chairman of a company meetmg 7 - 10

(b} Whois Proxy ? What are his powers 7 - , , R 10

9. Givethe specimen of the any two of the following :— e 20

(a) Notice of Annual General Meeting
(b) CallReminder

(c) Dividend warrant

(d) Letter of Regret.

10. Write short notes on any four of the following :~ : o 20
.~ (a) Prospectus (d) Terminantion ofmembership
(b) Equity shares ' (e) Special Resolution
(c) Interest o (f) Table'A', -
[TURNOVER
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Con. 30-18. REVISED COURSE - - KG—6488
' (3 Hours) [Total Marks : 100

B. : (1) Attempt all questions.
(2). Figures to the right indicate full marks.
(3) Write the answer of both the sections in one answer book.

_ Section I
1. Explain the following terms any Five :— | : | | 10
' (a) E-contract (e) Future goods
(b) Fraud () Warranty
(c) Indemnity holder (2) Cheque
(d) co-agent (h) Endorsement.
2. Answer any three from the following -— - | 30

(a) Explain in brief essential elements of a valid contract.
(b) Discuss the rules relating to valid offer.

(¢) What is bailment ? Explain its various kinds.

(d) Explain briefly the rights of an agent.

(e) What is contract of sale ? Explain its essential elements.
() Explain in brief characteristics of negotiable instrument.

3. Write short notes on any two — _ - | 10
(a) Capacity to contract (¢) Unpaid seller ' '
(b) Pledge - (d) Types of Bills of Exchange.
: Section II |
4. Explain the following terms any Five :— | . 10
(a) Foreign company : (e) Patent
(b) Articles of Association (f) Appeal
(c) Active Partner (g) Goodwill of a firm
(d) Particular Partnership (h) Prospectus.
5. Answer any three from the following — 30

(a) Briefly explain various,kinds of companies under Companies Act.

(b) Explain the meaning & clauses of Memorandum of Association. -

(c) What are the rights of a partner under Partners Act 1932 ? Explain.

(d) Explain briefly functions of Security Exchange Board of India (SEBI)

(e) State and explain the powers of National Company Law Tribunal (NCLT).
() Explain the composition & Jurisdiction of dlstnct forum for consumer

protection.
6. Write short notes on any two :— 10
(a) Prospectus - {c) Types of Partners

(b) Trade mark (d) Right of redressal.
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-

Con. 23-18.
,QCZ.S r)le E‘?onom; e ~IL
(3 Hours Y [ Total Marks : 100
N.B. : (1) Question Nos. 1 and 6 are compulsory.

(2) Attempt any two questions from the remaining from each section.
(3) Figures to the right indicate full marks.
(4) Draw neat diagrams wherever necessary.

Section I
1. (a) - Explain briefly the following concepts : (any four) - . - 10
(i) Circular flow of national income (i) Super multiplier ‘
(i) Supply of money -+ {iv} -Inflation
(v} Commercial bank ' (vi) Fiscal policy
(b) Distinguish between (any two) : 8

(1) Closed economy and Open economy
(i) Demand pull and Cost push mﬂa‘uon
(i) IS and LM curve.

2. (a) Explain the different phases of atrade cycle, 8
{b) Explain the working of investment multiplier, 8
3, () Describe the Keynesian Theory of Demand for Money. 8
(b) Explain the RBIs approach to the measurement of money supply. 8
4. (a) Explain the trade off between liquidity and profitability of 2 commercial bank. 8
(b) What are the ob_]cc’aves of a Monetary Pohcy ? .8
5. 'Write notes on any two of the following : - | | L : 16
(& Acceleration principle = - {(b) Fetatures of business cycle
(¢} Liquidity Preference Theory of interest  (d) Quantitative instruments of Monetary Policy
' - Section IT _
6. (a) Explain briefly the following concepts : (any four) . ' : _ - 10
‘ () Human Development Index (ii) Inclusive growth B :
(it} Food security (iv) Competition Act
(v) Public sector banks _ (vi) NPAS : i _ :
(b) Distinguish between (any two) :* 7 : 8
(. Primary education and Higher educanon in India ' I
(i) Industry and Servite sector
(i) National Income and Per Capita Income.
7. () Explain the features of New Industrial Policy, 1991. 8
(b) Discuss the various causes of ynemployment in India. 8
8. (a) What are the causes of low agricultural productivity in Indla ? 8
(b) Write a note on Public Dlstnbutmn System in India. ' 8
9. (@) Explain the progress of’ commerc:lal banks in India since 1991. 8
(b) Discuss the development functions of RBI : 8
10. Write notes on any two of the following : - . _ 16 .
() Human development through health in India (b) Occupational structure in India
(c) New Agricultural Policy, 2000 {d) Recent Policy measures for SSIs.
" [ TURN OVER
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Asmi-Exam.~15t Hal—2015-36 ‘
Con. 40-18. (ommleree - f o -77) KG-6574
‘ ' (3 Hours) ~ [Total Marks : 100

N.B. : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Write both the sections in the same answer book.

Section I

1. Answer any two questions from the following :— 16
(a) Define management and explain in brief various ﬁmctlons of management.
(b) Whatis MIS ? Explain its features.
(¢) Discuss in brief various techniques of Decision Makmg
(d) Discuss various advantages of MBO. :

2. Answer any two questions from the following == 16
(a) Distinguish between Formal Organisation and Informal Orgamsatlon :
(b) Write a note on Matrix Organisation.
(c) Explain various principles of effective delegation.
(d) Explain the importance of Corporate Social Responsibility.

3. Write short notes on any three of the following :— B | - 18
(a) Importance of Management '
(b) Virtual Organisation
(c) Importance of Decision Making
(d) Need of Corporate Goverance
(¢) Components of planning
(f) Managerial Skills.

Section 1T

4. Attempt any two questions of the following :— 16-
(a) Explain various steps in production planning and control '
(b) Whatis Inventory Control ? Explain its objectives -
(c) Whatis TQM ? Explain its features
“(d) What is Quality Circle ? Explain its process.

5. Answer any two questions from the following :— oA - ' 16
(a) Explain various features of venture capital * :
(b) Discuss various functions of SEBI
(¢) - Discuss various participants in Derivative Market
(d) Explain various types of Mutual Funds

[TURNOVER
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6. Write short notes on any three of the following -
(a) Methods of Inventory Control System
(b) Objectives of production planning and control
(¢) Different techniques of Quality Control
(d) Types of Derivative Market
(e) Structure of Financial Management
(f) Stepsunder Six Sigma.
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(3 Hours) @ZI) [Total Marks : 100

‘N.B. :'(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Workmg notes should form the part of the answer.

Sectlon I
1. Following is the Trial Balance of P, Q and R on 315t March, 2018 | 18
Particular Dr. X Cr. 2
Capital: ' ' N

P o - 30,000

Q - ' - - | 20,000

R By - | 10,000
Drawings: e , :

P | | 3,000 - -

Qe 2,000 -

R : | 1,000 =
Sundry Creditors | | -« | 31,000
Sales I . 78,000
Building o 20,000 -
Machinery ' 10,000 -
Furniture _ - : E 10,000 I
Stock 1 3000 | -
Sundry Debtors 125,000 - | e L
Purchases o 35,000 | -
Wages ‘ ' 03,500 | .-
Carriage inwards = . 1,500 o -
Office expenses = = | 12,000 | -
Selling Expenses | 8000 | - -
‘Cash Balance | - 16,000 -
Bank Balance 15,000 o -
Advance : : - 4,000 : -

Total 1,69,000 1,69,000

 [TURN OVER
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Additional Information:-

m

)

3)
(4)

5)

(©)
-

On 15t October, 2017 R was admitted who.brought ¥ 10,000 as his capital
for which entry is passed. He later. brought ¥ 4,800 for Goodwill for which
the entry is to be pass.

P and Q were sharing profit and losses as3 2 After R's adm1ssmn they shared
profit and losses 2:1:1.

The sales ratio for the first six months and second six months has been 3: 2
Out of office expenses T 500 belonged to second half of the year only
Balance of the expenses to be divided equally. ‘
Depreciate Building at 5% p.a. and Machinery at 10% p a.

Interest on Capital to be allowed at 10% p.a.

Closing stock T 4, 000 on 30th September, 2017 dnd T 5 000 on

- 315t March,2018..

2. (a) Choose the most appropriate answer from the followmg

(1)

@

(3).

“)

)

®

. _
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The ratio Wh1ch is surrendered by the old.partners in favour of new
partners- .
(a) ©Old Ratio o (c) Gain Ratio
(b) New Ratio (d) Sacriﬁce_'Ratio.
~ General reserve should be distributed in P
(2) Capital Ratio 4(e) Equal Ratio
(b) Profit sharing ratio | (d) None of the above
Government liabilities are . :
~(a) External Liabilities - (c) Preferential Liabilities
(b) Internal Liabilities (d) Contingent Liabilities. -
Partners Loan is . - R
(a) External Liabilities - (c) Preferential Liabilities
(b) Internal Liabilities o A(d) Con’tingent Liabilities.
Assets taken by partner's is debited to R P
(a) Realisation Alc (c) Cash and Bank Aflc
(b) Partner's Capital Alc (d) None of the above |
Assets and Liabilities are transferred to Realisation A/c at _
(a) Cost Price (c) Market Value

(b) Book Value - ‘(d) Agreed Value

} _. 4. .' . ?. ‘h' S
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(N deals with amalgamation of firms
(a) AS-13 , (c): AS -15
(b) AS -14 - (d) AS -16
(8) Goodwill isa _°
(a) Intangible Assets (c¢) Fictitious Goods
(b) Tangible Assets (d) None of the above.

(b) State whether the following statement are True or False :

(1) A new partner is admitted into the ﬁrm for getting additional capltai
and skill. |

(2) The Goodwill brought in by a new partner is shared by the old partners

(3) Gain Ratio = Old Ratio — New Ratio.

(4) Maximum loss method and excess capital method both are same

(5) Provident fund is preferential liability

(6) Debit balance of profit and loss A/c is a net loss.

(7) Dissolution expenses are debited to cash A/c

(8) Purchases consideration means amount agree to be paid by old firm
to new firm.

3. A, B and C were in partnership sharing profit and losses in the ratio of 5:3:2°
respectively. They decided to dissolve the firm on 31 03.2017 on which date their
balance sheet stood as follows -

Liabilities B¢ Assets 4
A's Capital Account 60,000 | Machinery ©1,00,000
B's Capital Account © 33,000 | Furniture 26,000
C's Cé_tpital Account 20,000 | Stock : - 74,000 -
A's Loan Account | 10,000 | Debtors ' 139,000
D's Loan Account 40,000 | Cash  .: 4,000
Sundry Creditors 80,000
2,43,000 4 2,43,000
[ TURN OVER
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The assets were realized as follows and it was agreed that cash should be distributed
at the end of each month.

Date ; Assets realized 4
30t April, 2017 ° Machinery and Stock 95,000
315t May, 2017 : Debtors and Stock 40,000
30' June,2017 ~ Debtors and Stock 38,000
15t July,2017 : Stock and Furniture 30,000

Cash as on 315t March, 2017 T 4,000 was held back for dissolution expenses which
ultimately amounted to <3,500. Prepare a statement showing distribution of cash
at the end of each one of the four months. Apply Excess Capital Method.

OR : _
3. A Traders and B Traders were partnership firm they decided to amalgamate. 16 |
Their Balance sheet as on 315 March, 2018 was as under -
‘Liabilities A B Assets A B
| | Traders |Traders Traders | Traders
Capital Alc _ Land and Building —1 50,000
Al 35,000 — | Premises . 30,000 —_
A2 22,000 — | Machinery 15,000 —
Bl — 1 36,000 | Goodwill 8,000 —
B2 — | 20,000 | Furniture 6,000 | 6,000
Loan Al 10,000 | - | Investment 10,000 | 8,000
Loan B2 -| 8,000 | Debtors 9,000 |- 5,000
Creditors 12,000 18,000 | Cash 16,000 | 17,000 -
Bills Payable 5,000 - - | .
Reserves 10,000 4,000
94,000 | 86,000 94,000 | 86,000

p3-D-upg-First Half 2018-113




Con. 36-KG-6314-18. " 5

The amalgamatlon was made on the following term
(1) The new firm AB Traders decided to value Goodwill of both the firms at
. ¥ 12,000 each. :
(2) For A Trader, the new firm took investment, Debtors and Furniture at book
Value Premises at ¥ 53,000 and Machinery at ¥ 9,300.
(3) ~ For B Traders, the new firm took Furniture, Debtors and Investment at
book value and Land and Building at ¥ 67,000.
(4) The new firm agreed to take such cash after payment of loans made by each
(5) New profit ratio is equal.
- (6) A Trader owes T 5,000 to B Trader. - _
(7) Bl will make a gift of T 2,000 to B2 towards his capital.
Prepare : (1) Ledger accounts to close the books of both traders. -
(2) Balance sheet of New Firm on 315t March, 2018.

"~ Section II

" 4. A fire occurred in the premises of Atul on 25% August, 2017 when a large part 18
 of the stock was destroyed. Salvage was T 1,50,000. Atul gives you the following |
‘information for the period from 1%t April, 2017 to 25" August, 2017:
(1) Purchases, ¥ 8,05,000. '
" (2) Sales, T 9,00,000.
‘ (3) Goods costing ¥ 5,000 were taken away by AtuI for his personal use.

4) Cost price of stock on 1%t April, 2017 was ¥ 4,00,000. _
‘Over the past few years, Atul has been selling goods at a consistent gross profit
margin of 33 1/3%. ' |
The insurance policy was for 'z' 5,00,000. It included an average clause also.

- Atul asks you to prepare a statement of claim to be made on the insurance company.

5. (a) State whether the following statements are True or False :- 8
(1) When a business suffers a loss from ﬁre it has to inform to insurance -
- company to get claim. : ' |
(2) Salvage is the value of goods saved from fire.
(3) Sales A/c is ascertained from Sales Day Book.
(4) A company can redeem only fully paid preference shares.
" (5) Premium on redemption of preference shares can be met out of security

~ premium account. . - o [TURN OVER
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(6)

6

of Association of the company.

(7)

* Debenture Sinking Fund A/c.
(8) A debenture 1ssued at a discount can be redeemed at a premium.

(b) Match the following —
Column A

[

Debenture Redemption Reserve Afc
. Price paid by company for

purchase of own debenture
excluding the accrued interest
3. Price including accrued interest

4. Partly paid up share

5. Divisible profit

6. Non divisible profit -
7. Use of CRR

8. Abnormal goods have

6. X Co. Ltd. dec1ded to redeem their preference shares as on March 31St 2017 on -

which date their position was as

under :

Redeemable preferenee shares can be 1ssued if authorlzed by the Articles

The balance of Debenture Sinking Fund Investment Alc is transferred to

Column B

a) +Sinking fund after deducting habr].lty '

b) Capital reserve -
¢) Issue of fully paid up Bonus
- Share

- d) Any impact on insurance clalm

¢) Cannot be redeemed

- f) Cum Interest

g) Ex -interest price

-'h)*S. 117C of the Company Act.
i) -Intangible assets

j) Right Shares

Balance Sheet as on 315t March 2017

Amount

p3-D-upg-First Half 2018- 115

Liabilities Amount Assets
| _ 3 | _®
Share Capital : Cash and bank balances | 2,00,000
5,000 equity shares of ¥ 100 . Other assets 9,00,000
each fully paid 5,00,000 '
4,000 10% redeemable preference
shares of fully ¥ 50 each, 25
per share paid ' -1,00,000
2,000 9% redeemable preference |
shares of ¥ 100 each fully paid up| 2,00,000
. Reserves and Surplus :
Securities premium a/c 10,000 |
Capital redemption reserve a/c - 1,00,000
~Dividend equalisation fund 1,10,000
Sundry liabilities - -80,000
' 11,00,000 11,00,000

16
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The redemption of all preference shares is to be carried out at premium of 5%. In
order to carry out redemption of preference shares it was decided to issue sufficient
number of equity shares of ¥ 100 each at a discount of 10%. The new issue was
" fully subscribed and paid for. The redemption was duly carried out. Pass journal
entries to record the above transaction and prepare the balance sheet after redemption.

OR

6. Give the necessary Journal entnes at the time of redemptlon of debentures ineach 16
~ of the followmg cases. :
1. X Ltd. issued 5,000, 9% debentures of 2100 each at par and redeemable
at par at the end of 5 years out of capltal o
2.~ X Ltd. issued 1,000, 12% debentures of X100 each at par. These
~ debentures are redeemable at 10% premium at the end of 4 years
3, X Ltd. issued 12% debentures of the total face value of ¥ 1,00, 000
at premium of 5% to be redeemed at par at the end of 4 years
4. X Ltd. issued ¥ 1,00,000, 12% debentures at a discount of 5% but
redeemable at a premlum of 5% at the end of 5 years. '
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| (1) Ali questlons are compulsory L
(2) F:gnrw to the nght mdxcate full marks

Sectwn I

EE 1 Answeranytwo questlons fromthefollowmg *—» T
() Expiam in detail the functions of busmess
(b) Discuss the Social objedtives of business. R A R
ROR What:sBumnwsEnvmonment?E@Iamtheunportan actors of Mac i
(d) E@lammdetaﬂ the fxmctmns of W'I‘O

L2 Answer any two quests.ons ﬁ'om the tollowmg S ‘ LR . 20 o
e (a) Explam in detail the factors determmmg the 1ocat10n for settmg upa busmess umt _' o
T (b) Dlscuss the dlﬁ‘erence between prq;ect report and feas1b1hty report . S




'Q:ﬂﬂ'! (2) H’éfm a:ﬁa'ltfan%a
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Con. 41-KG—6239-18. S 2 :
6. Write short notes (any two) - o

(a) InternetBanking

10

~ (b) Importance of onlmeMarketngesearch L e

(¢) Non store format of retailing
@ Classification of services.

(3 m)
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